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1.The first-ever Ganga Cleanliness Pledge Day 	
	(GCPD) will be observed on which date in 
India?
	[A]May-2-2017 		 [B]May-2-2016
 [C]May-2-2015 	 [D] May -2-1986 
ºî¡ºîô£è ÉŒ¬ñ èƒè£ àÁFªñ£N ãŸ¹ 
ï£œ âŠ«ð£¶ è¬ìH®‚èŠð†ì¶-?
[A]May-2-2017 		 [B]May-2-2016
[C]May-2-2015 		 [D] May -2-1986

2. Which state has become the first Indian state to 
use Automated Weather Stations (AWS) for 
farmers?
[A]Kerala 			   [B]Punjab
[C]Assam 			   [D] Maharashtra     
Mõê£JèÀ‚è£ù î£QJòƒA õ£Q¬ô 
G¬ôòˆ¬î ðò¡ð´ˆ¶‹ ºî™ Þ‰Fò ñ£Gô‹ 
â¶-?
[A] «èó÷£ 		  [B] ð…ê£Š 
[C] Üê£‹ 		  [D] ñý£ó£w®ó£

3.  Who has been bestowed with the 2017 Avvaiyar 
Award?
[A]Kirti Ghosh		     [B]Sarada Menon
[C]PadmaVenkatarama  [D] Mukesh Aghi     
2017&‹ Ý‡´‚è£ù å÷¬õò£˜ M¼¶
ªðÁðõ˜ ò£ -̃?
[A]W˜ˆF «è£w		  [B] ê£óî£ «ñù¡ 	
[C] ðˆñ£ ªõƒèìó£ñ¡	 [D] º«èw ÜA

4. The world’s highest railway bridge will come up 
over which Indian River?
[A]Narmada 			  [B]Godavari
[C]Ganga			   [D] Chenab   
àôA¡ Iè c÷ñ£ù óJ™«õ «ñ‹ð£ô‹ â‰î 
Þ‰Fò ïFJ¡ «ñ™ è†ìŠð´Aø¶-?
[A] ï˜ñî£ 		  [B] «è£î£õK 		
[C] èƒè£ 		  [D] ªêù£Š

5. Which state government has recently become the 
registered proprietor of the GI tag for Banganapalle 
mangoes?
[A]UttarPradesh		 [B]HimachalPradesh
[CMadhyaPradesh	 [D] Andhra Pradesh

ªð£¶ ÜP¾
â‰îñ£Gô‹ êeðˆF™, ðƒèùŠðœO ñ£‹ðöƒèÀ‚° 
¹Mê£˜ °Pf´ àK¬ñ¬ò ðF‰¶œ÷¶-?
[A] àˆFóHó«îê‹ 	 [B] Uñ£„êôŠ Hó«îê‹ 
[D] ñˆFò Hó«îê‹ 	[D] Ý‰FóHó«îê‹

6. India’s first bio refinery plant has set up in which of 
the following states?
[A]AndhraPradesh 		  [B]Assam
[C]TamilNadu			   [D] Maharashtra
â‰î ñ£GôˆF™, Þ‰Fò£M¡ ºî™ àJK ²ˆFèKŠ¹ 
G¬ôò‹ Ü¬ñò¾œ÷¶?
[A] Ý‰FóHó«îê‹ 		 [B] Üê£‹ 
[C] îI›ï£´ 			  [D] ñè£ó£w®ó£

7.If 2x=3y=4z then x:y:z is
[A] 3:4:6 			   [B] 4:6:3 	
[C] 6:4:3 			   [D] 2:4:3
If 2x=3y=4z âQ™ x:y:z â¡ð¶
[A] 3:4:6 			   [B] 4:6:3 	
[C] 6:4:3 			   [D] 2:4:3

8.LCM and HCF of two polynomials are x6-1 and x+1 
respectively. If one of the ploynomial iz x3+1 then the 
other polynomials is.
[A] x3-1			   [B] (x3-1)(x+1)	
[C] x6-1			   [D] (x6-1)(x+1)
Þ¼ ð™½ÁŠ¹‚ «è£¬õèO¡ e.ªð£.ñ LCM ñŸÁ‹ 
e.ªð£.õ£ HCF ÝAòù º¬ø«ò x6-1  ñŸÁ‹(x+1) 
Ý°‹. å¼ «è£¬õ x3+1 âQ™ ñŸªø£¼ «è£¬õ 
â¶?
[A] x3-1			   [B] (x3-1)(x+1)	
[C] x6-1			   [D] (x6-1)(x+1)

9.A cylindrieal shaped well of depth 30m and diam-
eter 28 m is dug out soil is evenly spread to form a 
Cuboid-platform with base dimension 30mx28m. Find 
the height of the plat form.
[A] 44m	 [B] 33m	 [C] 11m	 [D] 22m
28e M†ìº‹ ñŸÁ‹ 30 e.Ýöº‹ àœ÷ å¼ AíÁ 
à¼¬÷ õ®M™ ªõ†ìŠð´Aø¶. Üšõ£Á ªõ†´‹ 
«ð£¶ «î£‡® â´‚èŠð†ì ñ‡ Yó£è ðóŠðŠð†´ 
30eX28e Ü÷¾èO™ Ü®Šð‚èñ£è‚ ªè£‡ì 
å¼ èù ªêšõè «ñ¬ìò£è Ü¬ñ‚èŠð†ì£™, 
Ü‹«ñ¬ìJ¡ àòó‹ ò£¶?
[A] 44e	 [B] 33e	 [C] 11e	 [D] 22e
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10. If you write all the numbers from 1 to 100, then how 		
 many times do you write 3?
[A] 20		 [B] 19		  [C] 11		  [D] 18
1ºî™  100 õ¬ó â™ô£ â‡è¬÷»‹ â¿¶‹ «ð£¶ 
3 â¡ø â‡¬í âˆî¬ù º¬ø â¿¶i˜èœ?
[A] 20		 [B] 19		  [C] 11		  [D] 18

11.If a,b,c,l,m are in.A.P. then the value of 
2a-b-2c-l+2m is
[A] 1		 [B] 2		  [C] 3		  [D] 0
a,b,c,l,m â¡ðù Ã†´ˆ ªî£ì˜ õK¬êJ™ Þ¼ŠH¡ 
2a-b-2c-1+2m =
[A] 1		 [B] 2		  [C] 3		  [D] 0

12. The price of 2 sarees and 4 shirts is Rs.1,600 with 
the same money, one can by 1 saree and 6 shirts. If one 
wants to buy 12 shirts, much shall he have to pay?
[A]1200		 [B] 2400    [C] 4800   [D] 3600
2¹ì¬õ ñŸÁ‹ 4 ê†¬ìˆ ¶EèO¡ ªñ£ˆî Ïð£Œ 
1,600 Þ«î Ïð£J™ 1 ¹ì¬õ ñŸÁ 6 ê†¬ìˆ ¶E¬ò 
õ£ƒèô£‹ âQ™ 12 ê†¬ìˆ¶Eèœ ñ†´‹ õ£ƒè 
âšõ÷¾ ðí‹ «î¬õŠð´‹?
[A]1200		 [B] 2400   [C] 4800	 [D] 3600

13. Who has become the world’s highest wicket-taker 
in women ODI cricket?
[A]Mithali Raj 		  [B]Harmanpreet Kaur
[C]Ekta Bisht 		  [D] Jhulan Goswami
å¼ï£œ ê˜õ«îê ªð‡èœ AK‚ªè†®™, ÜFè 
M‚ªè† â´ˆî ió£ƒè¬ù ò£˜?
[A] Iˆî£L ó£x 	 [B] ý˜ñ¡ Hgˆªè÷˜
[C] ã‚î£ Hvˆ 	 [D] pô£¡ «è£võ£I
 
14. The 29th India–Indonesia bilateral maritime exer-
cise “CORPAT-2017” has started under which Indian 
Naval Command?
[A]Eastern Naval Command
[B]Western Naval Command
[C]Southern Naval Command
[D] Andaman and Nicobar Command
Þ‰Fò Þ‰«î£«ùCò Þ¼îóŠ¹ èì™ê£˜ ðJŸCò£ù 
CORPAT-2017 â‰î Þ‰Fò èìŸð¬ì‚è†´Šð£†®¡ 
W› ªî£ìƒAù?
[A]Eastern Naval Command
[B]Western Naval Command
[C]Southern Naval Command
[D] Andaman and Nicobar Command

15. Which online facility has been launched by the 
Union Government to provide direct solution to prob-
lem of agriculture sector?
[A]e-Krishi Samasya 		 [B]e-Krishi Samvad
[C]e-Krishi Samveda		  [D] e-Krishi Solution
Mõê£òˆ¶¬øJ¡ Hó„ê¬ùèÀ‚° «ïó® b˜¾ 
õöƒ°õîŸè£è â‰îªõ£¼ Ý¡¬ô¡ õêF¬ò 
ñˆFò Üó² ªî£ìƒA»œ÷¶?
[A]e-Krishi Samasya 		 [B]e-Krishi Samvad
[C]e-Krishi Samveda		  [D] e-Krishi Solution

16. Which country is hosting the United Nations Day 
of Vesak – 2017?
[A]India 				    [B]Bhutan
[C]SriLanka 				   [D]Myanmar    
â‰îï£´ United Nations Day of Vesak – 2017ä 
ïìˆFò¶?        
[A] Þ‰Fò£			   [B] Ì†ì£¡ 
[C] ÿôƒè£ 			   [D] Iò£¡ñ£˜

17. Which state has become the first Indian state to 
introduce a logo for vehicles driven by persons with 
hearing impairment?
[A]Telangana 			   [B]Himacha lPradesh
[C]Gujarat				    [D] Maharashtra
è£¶«è÷£î ïð˜è÷£™ Þò‚èŠð´‹ õ£èùƒ 
èÀ‚è£ù Þô„C¬ù¬ò ÜPºèŠð´ˆF»œ÷ 
ºî™ ñ£Gô‹ â¶? 	
[A] ªî½ƒè£ù		  [B] Uñ£„ê™Hó«îw
[C] °üó£ˆ			   [D] ñè£ó£w®ó£
 
18. Which state government is hosting the first-ever 
Videsh Sampark outreach programme?
[A]Kerala				    [B]TamilNadu
[C]Telangana				   [D] Karnataka
Þ‰Fò£M«ô«ò ºî¡ºîô£è ‘M«îw ê‹ð£˜‚’ 
«ê¬õˆF†ìˆ¬î õöƒ°‹ ñ£Gô Üó² â¶?
A] «èó÷£			   [B] îI›ï£´
[C] ªî½ƒè£ù		  [D] è˜ï£ìè£

19.  From a circular card sheet of radius 14cm, two 
circles of radious 3.5 cm and a rectangle of length 
3cm and breadth 1cm are removed. Two identical 
right triangles whose legs are of length 3 cm and 4 cm 
are joined. Then he area of the newly formed card is.
[A] 548cm2 				    [B] 616cm2

[C] 708cm2	 			   [D] 748cm2
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14 ªê.e Ýó‹ àœ÷ õ†ì õ®õ Ü†¬ìJ™ Þ¼‰¶ 
3.5 ªê.e Ýó‹ àœ÷ ªè£‡ì å¼ ªêšõèº‹ 
ªõ†® M†´ 3 ªê.e ñŸÁ‹ 4 ªê.e è£™èœ 
ªè£‡ì ªêƒ«è£í º‚«è£íƒèœ Þó‡´ 
Þ¬í‚èŠð†ì£™ ¹Fî£è à¼õ£°‹ Ü†¬ìJ¡ 
ðóŠð÷¾ â¡ù?
[A] 548ªê.e2	 		  [B] 616ªê.e2

[C] 708ªê.e2				   [D] 748ªê.e2

20.A hollow sphere in which a circus motorcyclist 
performs his stunts, has an inner radius of 7m.Find the 
area available to she motocyclist for riding. (Take.
[A] 525sq.m 			   [B] 616 sq.m
[C] 714 sq.m 			   [D] 728 sq.m
7 e àœ Ýóºœ÷ å¼ àœkìŸø «è£÷ˆFÂœ 
à†¹øñ£è å¼ ê˜‚èv ió˜ «ñ£†ì£˜ ¬ê‚AO™ 
ê£èê‹ ªêŒAø£ ,̃ Ü‰î ê£èê ió˜ ê£èê‹ ªêŒò‚ 
A¬ìˆF´‹ àœkìŸø‚ «è£÷ˆF¡ à†¹øŠðóŠ¹ 
ò£¶?Take 

[A] 525sq.m 			   [B] 616 sq.m
[C] 714 sq.m 			   [D] 728 sq.m 
21.Find the missing term

MK JH: :: : ?�69
�2�

[A]100/64 			   [B] 100/81
[C]64/120 			   [D] 81/100
M´ð†ì â‡¬í è‡´H®

MK JH: :: : ?�69
�2�

[A]100/64 			   [B] 100/81
[C]64/120 			   [D] 81/100

22.	  Solution of is  

[A]x=1, x=3 		        [B]x-3     [C]x=-4        [D] x=1     
                                           â¡ø êñ¡ð£†®¡ b˜¾         
                            
[A]x=1, x=3 		        [B]x-3     [C]x=-4 	        [D] x=1     

23. 3 years ago the average  age of a family of 5 mem-
bers was 17 years. After A baby born, the avorage age 
of the family is the same today. The present age of  
the baby is.
[A]1 year			   [B] 1 1/2 years
[C]2 years 			   [D] 3 years 

Í¡Á õ¼ìƒèÀ‚° º¡ 5 ïð˜ ªè£‡ì 
°´‹ðˆF¡ êó£êK õò¶ 17 õ¼ìƒèœ å¼ °ö‰¬î 
Hø‰î H¡ Ü‚°´‹ðˆF¡ êó£êK õò¶‹ Ü«î 
î£¡ âQ™ Ü‚°ö‰¬îJ¡ îŸ«ð£¬îò õò¶, 
[A] 1 õ¼ì‹			  [B]1 1/2 õ¼ì‹	
[C] 2 õ¼ìƒèœ		 [D] 3 õ¼ìƒèœ 

24.The simple interest at 5% per annum for 5 years 
will be Rs.5 on a principal of.
[A]Rs.5			   [B] Rs.200
[C]Rs.500			   [D] Rs.20
å¼ Ý‡®Ÿ° 5% îQõ†® iî‹ 5 Ý‡´èÀ‚° 
îQõ†® Ï.5 âQ™ ÜêL¡ ñFŠ¹ ò£¶?
[A]Ï.5			   [B] Ï.200
[C]Ï.500			   [D] Ï.20

25.India’s first electric cab fleet will be launched in 
which city?
[A]NewDelhi 			   [B] Nagpur 
[C]Lucknow 				   [D] Bhopal   
Þ‰Fò£M¡ ºî™ I¡õ£ì¬è õ‡® â‰î ïèóˆF™ 
ªî£ìƒèŠð†´œ÷¶?
[A]GÎªì™L			   [B]ï£‚Ì˜
[C]ô‚«ù£				    [D] «ð£ð£™
  
26. Who has been conferred with the first-ever Bhai-
ron Singh Shekhawat Lifetime Achievement Honour 
in Public Service?
[A]Mukul Sangma 		  [B]Manik Sarkar
[C]Lal Thanhawla 		  [D] Pawan Chamling
ªð£¶„ «ê¬õ‚è£è ºî¡º¬øò£è ¬ð«ó£¡ Cƒ 
ªêè£õˆ õ£›ï£œ ê£î¬ùò£÷˜ M¼¶ õöƒA 
ªè÷óM‚èŠð†ìõ˜ ò£ -̃?
[A]º°™ êƒñ£			  [B]ñ£Q‚ ê˜‚è£˜
[C]ô£™ î¡õ£ô£		  [D] ðõ£¡ ê£‹HLƒ

27. The Nandan kanan Zoological Park (NZP) is lo-
cated in which state?
[A]TamilNadu			   [B]Odisha
[C]Assam				    [D] Karnataka
ï‰î¡è¡ù¡ Môƒ°èœ êóí£ôò‹ âƒ°œ÷¶?-
[A]îI›ï£´				   [B]å®ê£
[C]Üvú£‹				   [D] è˜ï£ìè£

28. Which state government has constituted “Maa com-
mittee” to check mid day meal quality in schools?
[A]UttarPradesh 		  [B]Assam
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[C]TamilNadu 			   [D] Himachal Pradesh
ðœOèO™ ñFò àí¾ˆîóˆ¬î êKð£˜‚è Maa 
Committee-ä â‰î ñ£Gô Üó² Ü¬ñˆ¶œ÷¶.
[A]àˆFó Hó«îê‹		  [B]Üvú£‹
[C]îI›ï£´				    [D]Uñ£„ê™ Hó«îw

29. Which Indian wildlife activist has won the 2017 
Whitley Awards?
[A]Sanjay Gubbi 		  [B]Naresh Kadyan
[C]Aruna Sabhane 		  [D] Shahriar Kabir
2017&‹ Whitley Awards&ä ªõ¡ø Þ‰Fò õùMôƒ° 
Ý˜õô˜ ò£˜?-
[A]ê…êŒ ýŠH		  [B]ï«ów è†ò£¡
[C]Ü¼í£ ê«ð¡		  [D]ûKò£˜èH˜

30. The 2017 bilateral maritime exercise “SIMBEX-
17” has started between India and which country?
[A]SriLanka 				   [B]South Africa
[C]South Korea 			  [D] Singapore
2017 Ý‹ Ý‡´‚è£ù Þ¼ˆîóŠ¹‚è£ù èìŸê£˜ 
ðJŸCò£ù C‹ð‚v 2017 Þ‰Fò£MŸ°‹ â‰î 
ï£†®Ÿ°‹ Þ¬ì«ò ªî£ìƒA»œ÷¶?
[A]Þôƒ¬è		 		  [B]ªî¡ ÝŠHK‚è£
[C]ªî¡ªè£Kò£		  [D]CƒèŠÌ˜

31. In a group of buffaloes and ducks, number of lege 
are 24 more than twice the number of heads. What is 
the number of buffaloes in the group?
[A] 6		 [B] 8		  [C]10		  [D] 12   
â¼¶èÀ‹, õ£ˆ¶èÀ‹ àœ÷ å¼ Ã†ìˆF™ 
è£™èO¡ ªñ£ˆî â‡E‚¬èò£ù¶. î¬ôèO¡ 
Þ¼ñìƒ¬èMì 24 ÜFè‹ âQ™ Ü‰î Ã†ìˆF™ 
àœ÷ â¼¶èO¡ â‡E‚¬è â¡ù?
[A] 6		 [B] 8		  [C]10		  [D] 12 

32. Find the value of  

[A] 230		 [B] 330		  [C]430		 [D] 530
 

                                     ¡ ñFŠ¬ð‚ è£‡
[A] 230		 [B] 330		  [C]430		 [D] 530

33.According to the latest census estimate the number 
of mammalian species types found in India.
[A] 4,100				    [B] 20,000	
[C]4,200 				    [D] 4,000
Þ‰Fò£M™ îŸè£ô èí‚ªè´ŠH¡ð® è£íŠð´‹ 
ð£½†®èO¡ õ¬èèO¡ â‡E‚¬è.

[A] 4,100				    [B] 20,000	
[C]4,200 				    [D] 4,000

34. A rectangular swimming pool 60m long, 40m 
wide and 1.5 m deep is to be tiled. If the side of the 
square tile is 50 cm. Find the number of tiles needed
[A] 10,200				    [B] 10,800	
[C] 20,400				    [D] 20,800
å¼ ªê™õè c„ê™ ªî£†®J¡ c÷‹. Üèô‹ ñŸÁ‹ 
Ýö‹ º¬ø«ò 60e, 40e 1.5 e Þˆªî£†®‚° 
¬ì™v ðF‚è. 50 ªê.e ð‚è‹ ªè£‡ì ê¶ó 
¬ì™v «î¬õŠð´‹?
[A] 10,200				    [B] 10,800	
[C] 20,400				    [D] 20,800

35. The daily wage is increasd by 15% and a person 
now gets Rs.23 per day. What was his daily wage be-
fore the increases?
[A] 10				    [B] 15	
[C] 20				    [D] 30
å¼ ïðK¡ Fù‚ÃL¬ò 15% àò˜ˆFòî£™ Üõ˜ 
Ï.23 ªðŸø£˜ âQ™. àò˜ˆîŠð´õîŸ° º¡¹ 
Üõ˜ õ£ƒAò Fù‚ ÃL âšõ÷¾?
[A] 10				    [B] 15	
[C] 20				    [D] 30

36.  If the price of item is increased by 30% and 
then decreased by 30%. The final price compared to 
original price is
[A] 9% less				    [B] 0% 
[C] 91% more			   [D] 91% less
å¼ ªð£¼O¡ M¬ô 30% Ã†ìŠð†´ H¡ 30% 
Þø‚èŠð´Aø¶. ÞÁF M¬ô¬ò Ýó‹ð M¬ô»ì¡ 
åŠH´è.
[A] 9% less 				    [B] 0% 
[C] 91% more			   [D] 91% less

37.Which state government has launched e-textbook 
portal for school students?
[A]Assam 				    [B]Kerala
[C]Karnataka 			   [D] Haryana
ðœO ñ£íõ˜èÀ‚è£ù e-texbook Global â‰î 
ñ£Gô Üó² ªî£ìƒA»œ÷¶?
[A] Üê£‹ 				    [B] «èó÷£ 
[C] è˜ï£ìè‹ 			   [D] ýKò£ù£
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38. What is the India’s rank in the 2017 Healthcare 
Access and Quality Index (HAQI), according to latest 
Lancet report “Global Burden of Disease (GBD)”?
[A]128th 				    [B]154th
[C]166th				    [D] 137th
êeðˆFò Burden of Disease ÜP‚¬èJ¡ð®. 20017 
Health Aecess and Quality India (HAQI)&™ Þ‰Fò£ 
âˆî¬ùò£õ¶ ÞìˆF½œ÷¶?
[A] 128 õ¶				    [B] 154&õ¶
[C] 66&õ¶ 				    [D] 137&õ¶

39. Which state government will form “Good Morn-
ing” squad to monitor and prevent open defecation?
[A]Maharashtra 			  [B]UttarPradesh
[C]MadhyaPradesh 		  [D] Rajasthan
â‰îñ£Gô Üóê£ƒè‹ Fø‰îªõO ñôƒèNˆî¬ô 
î´‚è¾‹. ÜõŸ¬ø è‡è£E‚è¾‹Good morning 
è‡è£EŠ¹Š ð¬ì¬ò à¼õ£‚A»œ÷¶?
[A] ñý£ó£w®ó£		  [B] àˆFóHó«îw
[C] ñˆFòHó«îw 		  [D] ó£üvî£¡
  
40. Which high-level committee has recently submit-
ted its report on Scouts and Guides to the Union Gov-
ernment?
[A]Harsh Malhotra committee 
[B]Ratan Watal committee 
[C]Injeti Srinivas committee 
[D]Abhijit Sen committee
â‰î àò˜ñ†ì‚°¿ êeðˆF™ ñˆFò Üó²‚° 
ê£óí˜ ñŸÁ‹ õNè£†®èÀ‚è£ù îù¶ 
ÜP‚¬è¬ò êñ˜ŠHˆ¶œ÷¶?
[A] -ý˜w ñ™«ý£ˆó£ èI†®
	[B] óˆ¡õ£†ì™ èI†®
[C] Þ¡ªü†® ÿGõ£v èI†®		
[D] ÜŠTˆªê¡ èI†®

41. The population of village is 50,000/ 40% of them 
are men, 35% of them are women and the rest are 
children. Find the number of children? 
[A]12,000			   [B] 12,500
[C]17,500			   [D]13,000
å¼ Aó£ñˆF¡ ñ‚èœ ªî£¬è 50,000 Üõ˜èO™ 
40% Ý‡èœ. 35% ªð‡èœ, eî‹ àœ«÷£˜ 
°ö‰¬îèœ. âQ™ Ü‰î Aó£ñˆF™ °ö‰¬îèO¡ 
â‡E‚¬è¬ò‚ è£‡è.
[A]12,000			   [B] 12,500
[C]17,500			   [D]13,000

42. The sum of the ages of a son and father is 72 years, 
After 12 years the age of father will be 3 times that of 
the son. What is the age of the son now?
[A]12		 [B] 22		  [C]14		  [D]16
ñè¡ ñŸÁ‹ îèŠðQ¡ îŸ«ð£¬îò õòF¡ 
Ã†´ˆªî£¬è 72.  12 õ¼ìƒèÀ‚° Hø° îèŠðQ¡ 
õò¶ ñèQ¡ õòF™ 3 ñìƒ° â¡ø£™ ñèQ¡ 
îŸ«ð£¬îò õò¬î è£‡è.
[A]12		 [B] 22		  [C]14		  [D]16

43. HCF of 3240, 3600 and a third number is 36 and 
their LCM is 24x35x52x72 The third number is.
[A] 24x55x73			   [B] 24x35x72

[C]22x52x72			   [D]22x35x72

3240, 3600 ñŸÁªñ£¼ Í¡ø£õ¶ â¡ ÝAòõŸP¡ 
HCF Ýù¶ 36 ñŸÁ‹ ÜõŸP¡ LCM Ýù¶ 
24x35x52x72 âQ™ Ü‰î Í¡ø£õ¶ â¡ â¶-?
[A] 24x55x72			   [B] 24x35x72

[C]22x52x72			   [D]22x35x72

44. A shopkeeper mixes 20 kgs of rice which cost 
Rs.5 per kg with 35 kg of rice which cost Rs.7 per kg. 
Then he sells the mixture at Rs.6.50 per kg. Find his 
profit percentage.

[A]3% 			   [B] 3 40
67

%

[C] 4 34
69

% 			   [D]

å¼ è¬ì‚è£ó˜ î¡Qì‹ Þ¼‰î Ï5 Üì‚è 
M¬ô»œ÷ 20A ÜKC¬ò»‹. Ï.7 Üì‚è M¬ô»œ÷ 
35 A«ô£ ÜKC¬ò»‹ å¡ø£è èô‰¶ A«ô£ 
Ï.6.50‚° MŸø£™ Üõ¼‚° A¬ì‚°‹ Þô£ðˆF¡ 
êîiî‹ â¡ù?

[A]3%			   [B] 3 40
67

%
[C] 4 34

69
% 			   [D]

 
45. A and B can do a work in 12 days, B and C in 15 
days, C and A in 20 days In how many days will they 
finish it together?
[A]8			   [B] 9
[C]10			   [D]11
å¼ «õ¬ô¬ò A ñŸÁ‹ B 12, ï£†èO½‹. B 
ñŸÁ‹ C 15 ï£†èO½‹, C ñŸÁ‹ A 20  ï£†èO½‹ 
º®Šð£˜èœ, Íõ¼‹ «ê˜‰¶ Üš«õ¬ô¬ò º®‚è 
âšõ÷¾ ï£†èœ Ý°‹?
[A]8			   [B] 9
[C]10			   [D]11
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46. Sum of all 2 digital natural numbers which are 
divisible by 7 is.
[A]777			   [B] 1728
[C]1777			   [D] 728
ãö£™ õ°ð´‹ â™ô£ Þó‡®ô‚è Þò™ â‡èO¡ 
Ã†´Š ðô¡ ò£¶?
[A]777			   [B] 1728
[C]1777			   [D] 728

47. Find the value of  
[A] 5			   [B] 6
[C] 7			   [D] 8

43 3� 2� �6− +  &¡ ñFŠ¹ ò£¶-?
[A] 5			   [B] 6
[C] 7			   [D] 8

48. Seetha and Geetha can do a Job in 15 days and 10 
days respectively. They began to work together but 
Seetha leaves after some days and Geetha finishes 
remaining job in 5 days. After how many days did 
Seetha leave?
[A] 3		 [B] 6		  [C] 8		  [D] 10
å¼ «õ¬ô¬ò Yî£ 15 ï£†èO½‹ Wî£ 10 ï£†èO½‹ 
º®Šð£˜èœ. Þ¼õ¼‹ «õ¬ô¬ò ªî£ìƒAò¶‹ 
Cô ï£†èÀ‚°ŠHø° Wî£ ªê¡ÁM†ì£œ. eî‹ 
àœ÷ «õ¬ô¬ò Wî£ 5 ï£†èO™ º®ˆî£œ 
â¡ø£™, Yî£ âšõ÷¾ ï£†èœ èNˆ¶ ªê¡ø£œ-
[A] 3		 [B] 6		  [C] 8		  [D] 10

49.Recognised official language of India are
[A] 25		 [B] 23		  [C] 22		  [D] 27
Þ‰Fò£M™ ÜƒWèK‚èŠð†ì Ü½õ™ ªñ£Nèœ
[A] 25		 [B] 23		  [C] 22		  [D] 27

50.When was India divided into many states on Linguistic 
basis?
[A] 1949		 [B] 1950	 [C] 1956       [D] 1996
ªñ£N Ü®Šð¬ìJ™ Þ‰Fò£ âŠ«ð£¶ ðô 
ñ£Gôƒè÷£èŠ HK‚èŠð†ì¶?
[A] 1949		 [B] 1950	 [C] 1956       [D] 1996

51.Number of elected members to Lok Shabha from union 
territories is
[A] 15		 [B] 13		  [C] 14		  [D] 16
¬ñò Ý†CŠ ð°FJL¼‰¶ «î˜‰¶ â´‚èŠð†ì 
ñ‚è÷¬õ àÁŠHù˜èœ â‡E‚¬è.
[A] 15		 [B] 13		  [C] 14		  [D] 16

 

 52. In which place excavated more than 160 
burial urns?
[A] Adichanallur, Tirunelveli 	
[B]Adichanallur , Tuticorin 
[C]Keezhadi, Sivagangai     	             
[D]Azhalagankulam, Ramanathapuram
160 î£NèÀ‚° «ñ™ è‡ìPòŠð†ì Þì‹ â¶?
[A] ÝF„êï™Ö ,̃ F¼ªï™«õL
[B] ÝF„êï™Ö ,̃ Éˆ¶‚°®
[C] Wö®, Cõèƒ¬è
[D] Üöè¡ °÷‹, ó£ñï£î¹ó‹

53.	Find the correctly matched
	i) Palaeolithic Age-BC 10000 years ago 
ii)Neolithic Age- BC 3000-BC 1500
iii)Chalcolithic Age- BC 10000- BC 4000
iv)Iron Age- BC 1500- BC 600
[A] i  &  iii				    [B]  iii & iv	
[C] i  &  ii				    [D]  i & iv
êKò£è ªð£¼‰F»œ÷¬î‚ è‡ìP
[A] ð¬öò èŸè£ô‹&A.º.10000 Ý‡´èÀ‚°º¡
[B] ¹FòèŸè£ô‹  &A.º. 3000&A.º 1500
[C] ªê‹¹‚è£ô‹ & A.º. 10000& A.º 4000
[D] Þ¼‹¹‚è£ô‹ & A.º. 1500& A.º 600
[A]  i  & iii				    [B]  iii & iv	
[C]  i & ii				    [D]  i & iv

54. Find the gaseous planet
[A]  Mars 				    [B]  Venus 	
[C]  Mercury 			   [D]  Jupiter
õ£»‚ «è£¬÷‚ è‡ìPè.
[A]  ªêšõ£Œ			   [B]  ªõœO
[C]  ¹î¡				    [D] Mò£ö¡

55.Vynu papu, Sarabai, Ramanujam are the 
famous for
[A] Astrology  			   [B] Meteoroids  
[C]Asteroids  			   [D] Satellite
¬õÂ ð£Š¹. ê£ó£ð£Œ. Þó£ñ£Âü‹ «ð£¡ø 
ªðò˜èœ âîŸ° ªðò˜ ªðŸø¶?
[A] õ£ùMò™ 		 [B] âKèŸèœ 
[C] °Áƒ«è£œèœ 	 [D] ªêòŸ¬è «è£œ

56. When was the Moon’s other side photographed ? 
which satellite took photo?
[A]1959, Lunar 2 	 [B]1959 , Lunar 3 
[C] 1959, Lunar 1 	 [D]1959, Lunar 4
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ê‰FóQ¡ ñÁð‚è‹ âŠ«ð£¶ ðì‹ â´‚èŠð†ì¶? 
Üî¬ù â‰î ªêòŸ¬è‚«è£œ ðì‹ â´ˆî¶?
[A]1959, Öù£˜2 	 [B]1959 ,  Öù£˜3
[C] 1959, Öù£ 1̃ 	 [D]1959,  Öù£˜4 

57. Which of the Following Planet don’t have 	
Satellite?
[A]Mercury, Mars 	 [B]Venus , Neptune 
[C]Mercury , Venus 	 [D]Mars , Uranus
H¡õ¼‹ â‰î «è£œèÀ‚° ªêòŸ¬è «è£œèœ 
Þ™¬ô?
[A] ¹î¡, ªêšõ£Œ 	[B] ªõœO,ªïŠ®Î¡
[C] ¹î¡,ªõœO 	 [D]ªêšõ£Œ, »«óùv

58. Who Received Nobel Price for Economics in 
India?
[A] Raguram Rajan 	 [B] Amarthya Sen 
[C] Urjit Patel  		  [D]Manmohan Singh
Þ‰Fò£M™, ªð£¼÷£î£óˆFŸè£è «ï£ð™ ðK² 
ªðŸøõ˜ ò£˜?
[A]ó°ó£‹ ó£ü¡ 	 [B]Üñ˜ˆFò£ ªê¡
[C]à˜Tˆ ð†«ì™	 [D]ñ¡«ñ£è¡Cƒ

59.Find the Correct One
i) Harappa Civilization- Iron Age
ii)Vedic Period – Iron Age
[A] I only correct 	 [B] I and II are correct  
[C]II only correct	 [D]both are wrong
êKò£ù å¡¬ø‚ è‡ìPè.
	i) ýóŠð£ ï£èKè‹ & Þ¼‹¹è£ô‹
	ii) «õîè£ô‹& Þ¼‹¹‚è£ô‹
[A] (i) ñŸÁ‹ 		  [B] (i) ñŸÁ‹ (ii) êK
[C] ñ†´‹ êK 		 [D]Þó‡´‹ îõÁ

60. Velcro invented in 1948. Who was the inventor?    
[A] George Mestral 	 [B] Hawking 
[C] Edison 			   [D] Markoni
ªõ™‚è«ó£ 1948™ è‡ìPòŠð†ì¶ Þî¬ù‚ 
è‡ìP‰îõ˜ ò£˜?
[A] ü£˜x ªñv†ó™	 [B] ý£Aƒ
[C] â®ê¡ 			   [D]ñ£˜«è£Q

61)   In which year International standard system ad-
opted?
[A] 1963  	[B] 1960        [C] 1962 	 [D] 1961 
àôè îóG˜íò Ü¬ñŠ¹ âŠ«ð£¶ GÁõŠð†ì¶?
[A] 1963  	[B] 1960        [C] 1962 	 [D] 1961 

62)  Robot , the word derived from which language 
[A]  Japanese			  [B] Chinese
[C] `Philippines		 [D] Latin
‘Robot’ â¡ø õ£˜ˆ¬î â‰îªñ£NJL¼‰¶ 
â´‚èŠð†ì¶?
[A] üŠð£Qv 		 [B] Yùªñ£N 
[C] HLŠ¬ð¡v 	 [D] ôˆb¡

63.) Which country called the electromagnetic train 
as flying train?
[A]China 			   [B]Japan 
[C]Germany 			  [D]France
I¡è£‰îóJ™ â‰î ï£†®™ ðø‚°‹ óJ™ âù 
Ü¬ö‚èŠð´Aø¶?
[A] Yù£			   [B] üŠð£¡
[C] ªü˜ñQ 		  [D] Hó£¡v

64)In 1600, the scientist William Gilbert proposed 
that earth behaves like a giant magnet. He belongs to 
which country? 
[A]France 			   [B] Germany 
[C] English 			   [D] Italy
1600‹ Ý‡´, M™Lò‹ A™ªð˜† â¡ø ÜPë˜ ÌI 
IèŠ ªðKò è£‰î‹ «ð£™ ªêò™ð´Aø¶ â¡ø£ .̃ 
Þõ˜ â‰î ï£†¬ì„ «ê˜‰îõ˜?
[A] Hó£¡v 			  [B] ªü˜ñQ	  
[C] ÞƒAô£‰¶ 	 [D] Þˆî£L

65) The period of Rig veda
[A] 	 BC  1600 – BC 1000  
[B]  BC 1000 – BC 600 
[C]  BC 1600 – BC 1100 
[D]  BC 1500 – BC 1000
K‚«õî è£ô‹
[A] 	 A.º  1600 – A.º 1000  
[B]  A.º	1000 – A.º 600 
[C]  A.º 1600 – A.º 1100 
[D]  A.º 1500 – A.º1000

66.Find the wrong one
[A] Carotene – present in carrot 
[B] Xanthophyll – present in Mango fruit
[C] Chlorophyll – present in leafs 
[D] No pigments - present in stem 
îõø£ù å¡¬ø‚ è‡ìPè.
[A] è«ó£†®¡&«èó†®™ àœ÷¶,
[B] ê£‰«î£H™&ñ£‹ðöˆF™ àœ÷¶.
[C] °«÷£«ó£H™& Þ¬ôJ™ àœ÷¶.
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[D] GøIèœ Þ™¬ô& î‡®™ àœ÷¶.

67.  which one of the following helps in intracellular 
and extracellular digestion?
[A]  Ribosomes 		 [B]  Vacuoles 
[C]  Lysosome  		  [D]  Golgi bodies
ªê™½‚° àœ«÷»‹ ªõO«ò»‹ ªêK‚°‹ 
ðE¬ò„ªêŒõ¶ â¶?
[A] K«ð£«ê£‹		  [B] ¸‡°I›èœ
[C] ¬ô«ê£«ê£‹	 [D]«è£™A àÁŠ¹èœ

68.The basic processes involved  in the water cycle
a) Evaporation and Condensation
b) Sublimation  and  Respiration
c) Deposition  and Condensation
d) Evaporation and Sublimation  
c˜ ²öŸC âî¡ Ü®Šð®J™ Þòƒ°Aø¶?
[A] có£Mò£î™ ñŸÁ‹ c˜²¼ƒ°î™
	[B] ðîƒèñ£î™ ñŸÁ‹ ²õ£Cˆî™
[C] ð®î™ ñŸÁ‹ c˜²¼ƒ°î™
[D] có£Mò£î™ ñŸÁ‹

69. Who was born in Kundagramam?
[A]Buddha 				    [B]Rishabadevar
[C]Vardhamana Mahavira	 [D]Guru Nanak
°‰îAó£ñˆF™ Hø‰îõ˜ ò£˜?
[A]¹ˆî˜ 				    [B] Kûð«îõ˜
[C] õ˜ˆîñ£ù ñè£i˜	 [D] °¼ï£ù‚

70. The Plants Stored their food as which form of 
energy?
[A]Physical Energy 		  [B]chemical Energy
[C]Mechanical Energy 	 [D]Potential Energy
î£õóƒèœ îƒèœ àí¬õ â‰î õ¬è ÝŸøô£è 
«êI‚A¡øù?
[A] ªð÷bè ÝŸø™ 		 [B] «õF ÝŸø™
[C] Þò‚è ÝŸø™ 		  [D] G¬ôÝŸø™

71. Who found the heat is one form of energy?
[A]Archimedes 			  [B]James Watt
[C]James Joule			   [D]Bernoulli
ªõŠð‹ å¼õ¬è ÝŸø™ â¡ð¬î‚ è‡ìP‰îõ˜ 
ò£˜?
[A] Ý˜‚AI®v 		  [B] «ü‹v õ£†
[C] «ü‹vT™ 			  [D] ªð˜ªùL

72. Ajanta and Ellora caves which are found in
[A]Bhopal 				    [B]Aurangabad
[C]Aihole 				    [D]Saranath
Üü‰î£ ñŸÁ‹ â™«ô£ó£ °¬èèœ
[A] «ð£ð£™ 				   [B] å÷óƒè£ð£ˆ
[C] ä«ý£™ 			   [D] ê£óï£ˆ

73. What is the Reason for Seasonal changes?
a) Rotation of the earth
b) Revolution of the earth
c) 23 ½  degree inclination and Revolution of the 		
   earth
d)None of the Above
ð¼õè£ô ñ£ŸøˆFŸ° è£óí‹ â¡ù-?
[A] ÌIJ¡ îŸ²öŸC 				  
[B] ÌIJ¡ ÅKò¬ù ²ŸÁõî£™
[C]23 1/2®AK ÌI ê£Œ‰¶ Þ¼Šðî£½‹. ÅKò¬ù 	
	   ²ŸÁõî£½‹
[D] «ñŸè‡ì â¶¾I™¬ô

74. Which Country celebrates Christmas in 
Summer?
a) England				    b) India
c) America				    d) Australia 
«è£¬ì è£ôˆF™ APv¶ñ¬ê ªè£‡ì£´‹ ï£´ 
â¶-?
[A] ÞƒAô£‰¶			  [B] Þ‰Fò£
[C] ÜªñK‚è£			   [D] ÝvF«óLò£

75. How many Municipal Corporation in 
	     Tamil Nadu?
a)12	 b)10		  c)6		  d)9
îI›ï£†®™ âˆî¬ù ñ£ïèó£†Cèœ àœ÷ù?
a)12	 b)10		  c)6		  d)9

76. Grievance Day Observes every 
a)Month				    b)Thursday
c)Monday				    d)Saturday
ñ‚èœ °¬ø«è†¹ ï£œ âŠªð£¿¶ 
è¬ìH®‚èŠð´Aø¶?
[A] åšªõ£¼ ñ£îº‹
[B] åšªõ£¼ Mò£ö‚Aö¬ñ»‹
[C] åšªõ£¼ Fƒèœ Aö¬ñ»‹			 
[D] åšªõ£¼ êQAö¬ñ»‹

77. Head of the Government of India is
a) President				    b) Prime Minister
c) Chief Minister		  d) Parliament
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Þ‰Fò Üóê£ƒèˆF¡ î¬ôõ˜ ò£ -̃?
[A] üù£FðF			   [B] Hóîñ˜
[C] ºîô¬ñ„ê˜		  [D] ð£ó£Àñ¡ø‹

78. When was the  stamp issued on the historical ruler 
Chandragupta M a u r y a?
a)2000		 b) 2002		  c)2003		 d)2001
õóô£ŸP™ CøŠ¹ õ£Œ‰î Üóêó£ù ê‰Fó°Šî 
ªñ÷Kò˜ G¬ùõ£è ñˆFò Üó² âŠ«ð£¶ Ü…ê™ 
î¬ô ªõOJ†ì¶-?
a)2000		 b) 2002		  c)2003		 d)2001

79. Who was the Andamahamatras
a)Ambassadors			   b)Spies
c)Protected the frontier	 d)Yuktas
Ü‰î ñý£ñ£ˆFó˜èœ â¡«ð£˜ ò£˜?
[A] É¶õ˜èœ			   [B] åŸø˜èœ
[C] â™¬ôè£õô˜èœ		 [D] »‚î˜èœ

80. Find the correct one
(i) Kadphises I created a new capital called Puru		
     sapuram
(ii)Kanishka organized third Buddhist council at 		
     Kashmir
(iii)Nalanda University was founded by Kumara  		
      Kupta
(iv)Allahabad Pillar inscription was inscribed by 		
      Ashoka
a)	(i), (ii)and (iii) are correct
b)	(ii) , (iii) ,(iv)  are correct
c)	(iii) only correct
d)	All the above are wrong
êKò£ù å¡¬ø‚ è‡ìPò¾‹?
(i) ºîô£‹ è£†HRv â¡ðõ˜ ¹Fò î¬ôïèó£ù 
ªðû£õ¬ó GÁMù£ ,̃
(ii) èQwè˜ Í¡ø£õ¶ ¹ˆî êñòˆ¬î è£weK™ 
ïìˆFù£ .̃
(iii) ï÷‰î£ ð™è¬ô‚èöè‹ °ñ£ó°Šî˜ â¡ðõó£™ 
GÁõŠð†ì¶.
(iv) Üôè£ð£ˆ É‡ è™ªõ†´ Ü«ê£èó£™ 
GÁõŠð†ì¶.
[A] (ii) ñŸÁ‹ (iii) êK	 [B] (ii)(iii) (iv)  êK
[C] (iii) êK				    [D] «ñŸè‡ì 		
				      Ü¬ùˆ¶‹ îõÁ

81. Si-Yu-Ki  wrote by?
a) Fahien				    b)Hieun Tsang
c)Pana				    d)Itchi 
S&»&A â¡ø ËL¬ù â¿Fòõ˜ ò£˜?
[A] ð£Uò£¡			   [B] »õ£¡ ²õ£ƒ
[C] ð£í˜				    [D] ä†C

82. Read the following characteristics carefully and 
find the continent
(i) The equator divides the continent into two equal 
halves 
(ii) One of the earliest civilization flourished in this 
continent
(iii) This continent is rich  in mineral resources and 
has dense forests
a)Australia 				    b)North America
c)Asia				    d)Africa
H¡õ¼‹ î¡¬ñè¬÷ èõùñ£è ð®ˆ¶ Ü‰îˆ 
î¡¬ñèœ â‰î‚ è‡ìPîŸ° ªð£¼‰¶‹ 
â¡ðî¬ù‚ è£‡
(i) ÌñˆFò «ó¬è Þ‰î‚ è‡ìˆ¬î êK ð£Fò£è 
HK‚Aø¶.
(ii) Þƒ° ðöƒè£ô ï£èKè‹ å¡Á ªêNˆF¼‰î¶
(ii) Þ‰î‚ è‡ìˆF™ èQñ õ÷ƒèœ Üì˜ˆFò£ù 
è£´èœ è£íŠð´A¡øù
[A] ÝvF«óLò£		  [B] õì ÜªñK‚è£
[C] ÝCò£				    [D] ÝŠK‚è£

83. Penguin and Polar Bear both are lived in Polar 
Region, but they never meet why?
[A] Polar bear only active in summer season.
[B] Penguin only found in Arctic region , Polar Bear 	
      Only found in Antarctic Region
[C] Penguin only found in Antarctic region , Polar 		
      Bear Only found in Arctic Region
[D]Above the all the statements are wrong.
ªðƒ°J¡. ¶¼õ‚ èó® Þó‡´‹ ¶¼õŠ 
ð°FJ™ î£¡ õ£›A¡øù. Ýù£™ Þó‡´‹ 
å¡¬øªò£¡Á ê‰FŠðˆF™¬ô ã¡?
[A] ¶¼õ‚èó® «è£¬ì‚è£ôˆF™î£¡ 			
   ªêò™ð´‹.
[B] ªðƒ°J¡ Ý˜®‚ð°FJ™  ñ†´«ñ 	   	
   è£íŠð´Aø¶. ¶¼õ‚èó® Ü‡ì£˜®‚ 	           	
   ð°Fò™ ñ†´«ñ è£íŠð´Aø¶.
[C] ªðƒ°J¡ Ü‡ì£˜®‚ ð°FJ™ ñ†´«ñ 		
   è£íŠð´Aø¶. Ý˜®‚ð°FJ™  ñ†´«ñ
   ¶¼õ‚èó® è£íŠð´Aø¶.
[D] «ñŸè‡ì â¶¾I™¬ô.
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84. Find the correct one
[A]  Bharathi Rerearch  station located in Arctic
[B] Hurricanes are common in Pacific Ocean
[C] Distance between Earth’s crust and Mantle 
      is 70km
[D] Mariana Trench Located in Indian Ocean
êKò£ù å¡¬ø‚ è‡ìPè.
[A] ð£óF Ýó£Œ„C G¬ôò‹ Ý˜®‚ ð°FJ™ 	
   Ü¬ñ‰¶œ÷¶.
[B] ªð£¶õ£è ð²H‚ èì™ ð°FJ™ 			 
   ýK«è¡èœ è£íŠð´A¡øù.
[C] ÌIJ¡ «ñ™«ô£´¼‚°‹ «ñ¡®™‚°‹ 		
   Þ¬ìŠð†ì ð°FJ¡ ªî£¬ô¾ 70 A.e
[D] ñKò£ù£ ÝN Þ‰FòŠ ªð¼ƒèì™ 		
   ð°FJ™ 	àœ÷¶.

85. Corporation of Chennai functioning from which 
of the following building
[A] Secretary Office of Chennai 
[B]  Ribbon Building
[C]  Commissioner Office
[D]  None of the above
ªê¡¬ù ñ£ïèó£†C â‰î è†®ìˆF™ Þ¼‰¶ 
Þòƒ°Aø¶?
[A] ªê¡¬ù ªêò™ Ü½õôè‹
[B] KŠð¡ è†®ì‹.
[C] Ý¬íò˜ Ü½õôè‹
[D] «ñŸè‡ì  â¶¾I™¬ô.

86. Avvai home is
[A]Home for the destitute women
[B]Orphanage for Girls
[C] Home for the unemployed women
[D]All the above
å÷¬õ Þ™ô‹ â¡ð¶ 
[A] ¬èMìŠð†ì ªð‡èÀ‚è£ù Þ™ô‹
[B] ªð‡°ö‰¬îèÀ‚è£ù Üù£¬î Þ™ô‹
[C] «õ¬ôJ™ô£î ªð‡èÀ‚è£ù Þ™ô‹
[D] «ñŸè‡ì â¶¾I™¬ô

87. When was the Dr. Muthulakshmi born?
[A]July-20-1886		  [B] July-30-1886
[C]July-20-1896		  [D]July-30-1896
ì£‚ì˜ ºˆ¶ªô†²I âŠ«ð£¶ Hø‰î£˜?
[A] p¬ô-20-1886		  [B] p¬ô-30-1886
[C] p¬ô-20-1896		  [D ]p¬ô-30-1896

88. Electron Microscope Invented by
-[A]  Robert gallo
-[B]  Anton Van Leeuwenhoek
-[C]  SirAlexander Flemming
-[D]  Ernst Ruska and Max Knoll
âô‚†ó£¡ ¸‡«í£‚A¬ò è‡ìP‰îõ˜ ò£˜-
-[A] ó£ð£† è£«ô£
[B] Ý‡ì¡õ£¡ Öªõ‡è£‚
[C] ê˜ Üªô‚ê£‡ì˜ Hª÷‹v
[D] â˜ùv† ówê£ ñŸÁ‹ «ñ‚v Ë™
	
89. Find odd one add out
[A]AIDS 		  [B]Rabies
[C]Polio		  [D]TB
ªð£¼‰î£î å¡¬ø‚ è‡ìPè. 
[A] âJ†v		  [B] «óHv
[C] «ð£L«ò£		 [D] è£ê«ï£Œ

90. A dot can be filled with how much amoebae?
[A] 70,000 		  [B]60,000
[C]80,000		  [D]50,000
å¼ ¹œOJ™ âˆî¬ù Üeð£‚èœ Þ¼‚è 
º®»‹. 
[A] 70,000 		  [B]60,000
[C]80,000		  [D]50,000

91. Which is the characteristic feature of a dicot 
plant?
[A] Tap root  		  [B]Parallel venation 
[C]Fibrous root	 [D] All the above
W›‚è£µ‹  ð‡¹èO™ âŠð‡¹ Þ¼MˆF¬ôˆ 
î£õóˆFŸ°Š ªð£¼‰¶‹?
[A] è™L«õ˜
[B] Þ¬íŠ«ð£‚° æó‹¹
[C] ÝE«õ˜
[D] «ñŸè‡ì Ü¬ùˆ¶‹

92. When was Plastic  introduced for the first time in 
International Trade fair at London?
[A]1862 		  [A]1863
[A]1860		  [A]1852
Þô‡ìQ™ ïì‰î ê˜õ«îê õ˜ˆîèè£†CJ™  
ºî¡ºîô£è ªïAN ÜP‚¬èŠð´ˆîŠð†ì¶. 
Þ¶ ï¬ìªðŸø Ý‡´ ò£¶?
[A]1862 		  [B]1863
[C]1860		  [D]1852
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93.Which of the following Park  built on a landfill 
site?
[A]Indraprastha Park in New Delhi 
[B]Nandan Kannan Park in Odisha
[C]Sariska National Park in Rajasthan
[D]Hazaribagh Park in Jharkhand
H¡õ¼‹ â‰î Ìƒè£ Gô‚°MŠH¡«ñ™ 
è†ìŠð†ì¶?
[A] ªì™LJ½œ÷ Þ‰FóHóê£ˆ Ìƒè£
[B] å®ê£M™ àœ÷ ï‰î¡ è¡ù¡ Ìƒè£
ò£¶?
[C] ó£üvî£Q™ àœ÷ êKvè£ Ìƒè£
[D] ü£˜è‡®½œ÷ ýê£Kð£‚ Ìƒè£

94. Who discovered the cement ? 
[A]  Joseph Austin 	 [B]  Joseph Aspidin
[C]  Robert gallo 	 [D] Max Knoll
Cªñ¡¬ì‚ è‡ìP‰îõ˜ ò£˜?
[A] «ü£ûŠ Ýv®¡ [B] «ü£ûŠ ÝvH®¡
[C] ó£ð˜† è£«ô£ 	   [D] «ñ‚v Ë™

95. The important chemical substance used in the 
preparation of soap is
[A] sodiumhydroxide  [B]  sodium amalgam
[C]  sodiumsilicate  	 [D] sodiumbicarbonate
«ê£Š¹ îò£K‚èˆ «î¬õò£ù º‚Aòñ£ù 
«õFŠªð£¼œ.
[A] «ê£®ò‹ ¬ý†ó£‚¬ú´
[B] «ê£®ò‹ Üñ£™è‹
[C] «ê£®ò‹ CL«è†
[D] «ê£®ò‹ ¬ð è£˜ð«ù†

96. Which year declared as the “International Year of 
Astronomy”.?
[A] 2008 		  [B] 2009
[C] 2010 		  [D] 2007
â‰î Ý‡´ ê˜õ«îê õ£Qò™ Ý‡ì£è‚ 
ªè£‡ì£ìŠð†ì¶?
[A] 2008 		  [B] 2009
[C] 2010 		  [D] 2007

97. The telescope used by Galileo is presently kept in 
which city of Italy?
[A] Venice 		  [B] Rome
[C] Florence 		  [D] Pisa
ªî£¬ô«ï£‚A‚ è¼M ÞŠ«ð£¶ Þˆî£L 

ï£†®™ â‰î ïèK™ ¬õ‚èŠð†ì¶?
[A] ªõQv		  [B] «ó£‹
[C] çŠ«÷£ó¡v	 [D] ¬ðê£

98. On which date the objectives Resolutions was ad-
opted by the Constituent Assembly
[A] January 22nd 1947
[B] November 26th 1949
[C] January 26th 1950
[D] January 22nd 1950
Þ‰Fò ÜóCòô¬ñŠ¹ G˜íòê¬ð â‰ï£O™ 
°P‚«è£œèœ ÜìƒAò b˜ñ£ùˆ¬î 
G¬ø«õŸPò¶?
[A] üùõK  22, 1947
[B] ïõ‹ð˜ 26, 1949
[C] üùõK  26,1950
[D] ïõ‹ð˜ 22, 1950

99. The budget is presented in the House of the Peo-
ple
[A] by the President 
[B] by the Prime Minister
[C] by the Finance Minister
[D] by the Finance Secretawry
ñ‚è÷¬õJ™ õó¾ªêô¾ F†ìˆ¬î êñ˜ŠHŠðõ˜ 
ò£˜?
[A] üù£FðF
[B] Hóîññ‰FK
[C] GFò¬ñ„ê˜
[D] GF„ªêòô˜

100. Which part of the Indian Constitution deals with 
the Union Territory?
[A] Part -VI		  [B] Part -VII
[C] Part -VIII		  [D] Part -IX
Þ‰Fò ÜóCòô¬ñŠH™ â‰îŠð°F ÎQò¡ 
Hó«îêˆ¬îŠðŸP ÃÁAø¶.
[A] ð°F -VI		 [B]ð°F  -VII
[C]ð°F  -VIII	 [D]ð°F -IX


